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Answer five questions in total. Question No. 1 is-

compulsory. Answer remaining four questions,

selecting one from each Section

1. Write short notes on the following : 4x4=16

(a) Pollen allergy

(b) Haustoria and its functions

() Somatic embryogenesis

(d) Phages as vectors
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(3)

explain the following : 5+5=10

(a) Somatic hybridization
(b) Production of haploids in plants

SECTION—IV

Write short notes on the following : 2%x4=10

and disadvantages of

(@) Advantages
genetic engineering

(b) Bt cotton

(c) Blunt end cloning

(d) Bioinformatics as a tool in molecular

biology
Give a brief account on vectors used for gene
cloning. ’
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compfilsory. Ahswer the remaining four questions,
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1. Write short notes on the following : 4x4=16
(a) synaptonemal complex |
(b) Chemical mutagens

(c) Okazaki fragments
(d) <% XY mechaitism of sex determination
in plants
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What is induced mutagenesis? Give an

account of the role of induced mutations in
crop improvement. 2+8=10

SECTION—IV

8. Describe the salient features of Watson and
model of DNA double helix. How was

Crick’s

it proved that DNA replication is semi-

conservative? 5+5=10
5+5=10

9. Discuss the following :

(a) Mechanism of transcription in

prokaryotes
(b) Bacterial transduction
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